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1. (9 pts) Find all z satisfying |22 + 4] — x > 6.
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2. (9 pts) The sum of squares of three consecutive integers equals 10 times the largest of

these three consecutive integers. What is the smallest one?
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3. (9 pts) Find all solutions of z satisflying z* + 322 + 4 = 1622 — 32.
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4. (9 pts) Let P(z) = z® + 32® 4+ 2z. Evaluate P(—1-4). Simplify the result as much as
possible.
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5. (9 pts) Divide P(z) = z* — 42% + 2z + 4 by Q{z) = 2 — 3 and find the remainder.
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6. (9 pts) Find the coordinates of the point B=(z, %) on the line y = 2z — 4 so that AB=AC;
where A = (2,0) and C= (10,0). That is, the triangle ABC is isosceles (ikizkenar}.

- NS S 2R
8 Qe =02 =8 CGoscdivedts of B (x,2x-4)
s " - ?.t
: o (2 Y 20y — ) _
(z,x . 4 - E;ESZ- f}\( 2* _&_ - %ZE
_2.{ R ts S{‘ﬂﬁ_ﬁ o e %{aﬂ-‘i‘ 3 7z e E.@ {; %-«:-Sw‘g ;—"‘}
5 ; i;%% Sap = TAC &7 s

*\g (w-r ¥ Ge-u)t = &

kL Lk

o e+ B ar xowm - R



7. (7 pts) Find an equation of the line passing through A(-1,-2) and B(-4,-21).
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8. (228 pts) Complete the table below by filling in correct values of (fo f)(z) and (go f~1){(x):

T 1 2 3 4
f(=) 2 3 | 4 1
9(z) 2 2 1 3
(f o f)(z) 2 & 4 £
(9o f @ | 3 ) 2 y
9. (9 pts) Find the domain of the function f(z) = '3""1"21;"“2_"1
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10. (16 pts) The graph of f(x) is given below. Graph g(z) = 2 — f(—z — 1) in the blank grid.
Show individual steps of the transformation of the graph of f(z) to the graph of g(z).
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